== BIEA AR e 12X L.

(1) 17.5 — 847 + 3.962
(2) 10.45 + 2.76 — 5.147

@ (1) 11.982 (2) 7.063 @ (1) 11.992 (2) 8.063
® (1) 12.982 (2) 7.063 @ (1) 12.992 (2) 8.063

® (1) 12.995 (2) 8.063
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@ 10.1 - 3.64
© 5.27+ 1.79
© 8.02 - 0.55

® ©-0-© @ 9-0-© ® ©-6-0

@ O-©-O) B ©--0
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6. TS = 5470 YEHiE 20 A4 &e A

@® 413.72 @ 74.38

@ 0.075 ® 35.167



Theg A4 ghe ol AU
4.63 — 3.265
@D 1.365 ® 1.425 3 1.435 @ 1.465 B 1.895




Thall = Fnkel Aol A vt ZEE 6. 154kg*P*14E} 1% a9
A7} 4.183 kg o] 2HH, & O] BAL B kg 12| FSHA| L
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@ 0.1140.12=0.23

@ 0.1+40.12=0.22

@ 0.1440.12=0.26

® 0.13+0.12=10.25

® 0.14+0.13=0.27
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A5y AstE 0.35km & €5,
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AAo] oMU E EE 4kg & AT AG 4

O]—E— Ao AUHY 3.45kg o] AEYth A
Z % gAY X E o AMH H =4 oA L.

BEP

550g 500g 520g 580g

YR g



14. o8 %17 oHE 2L ol AU

D 10 9] % . @ 0.1 9] 10 WYL,
® 0.01 9 1000 vt} @ 100 9 % AYrh

0
1
[e) [e))]
® 1000 9] 500 )iB)sy
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16. [ |9kl ke 42 Aeld2 AEe AL LAY

1092 109 (o7, 1099 & [Jaye.

@® 109,1.09 ®@ 109,0.109 ® 1.09,0.109

@ 10.9.0.109 3 1.09.1.09
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O 258 242 vha Uehd 2S A=Ae.

@ (1) 6.74 (2)3.30 @ (1) 6.74 (2) 3.300
® (1)6.74 (2)3.3 @ (1) 6.074 (2) 3.03
® (1) 6.074 (2) 3.3
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19.

= HIEA A4 A& T EAQ.
(1) 0.7140.37  (2) 0.04 4 0.25
@ (1) 1.08 (2) 0.29 @ (1) 1.08 (2) 0.21
® (1) 1.08 (2) 0.19 @ (1) 0.98 (2) 0.29

® (1) 0.98 (2) 0.21




@D 6.44,6.64

@ 6.25.6.75

@ 6.53,6.55

B 5.54.7.54

® 6.13,6.25
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g 40| 27] ¥l v

4.08 4.07

@ 4.07 > 4.08 > 4.2 > 4.31
® 4.2>431>4.08>4.07

B 431 >4.08>4.07> 4.2

@ 4.31>4.2>4.07 > 4.08

@ 431 >4.2>4.08 > 4.07




22. o5 FolA 2.09 oF 277F 22 g o= AU

D 29 @ 0.209 3 2.090 @ 2.009 B 0.29



23.703




24, [ Joro] e 52 Ae2 4 9o AL n2A 9,

0297-0298 - |-[ ]-0301

@® 0.299, 0.3001 @ 0.299, 0.301 ® 0.299, 0.31

® 0.299, 0.3 ® 0.279, 0.3



25. [ |orel g2 45 AR 77 2L ol AU

(1) 3.64=001°] [ ]ol =yrh,
(2) 8.0620.001°] [ ]9l $QYct.

@ (1) 3.64 (2) 806 @ (1) 3.64 (2) 8060
@ (1) 36.4 (2) 8060 @ (1) 364 (2) 806

® (1) 364 (2) 8060



26. the[ ]l BolT & Ut 2AEY T

0.25 <0 [8 <0.84




27. TS % 2 SR AR 75 2 AL oL ALY

@8214%J—T— © 0.082 2] 100 Hi2l 4=
1 o] A

@8034m A 4=

® 0-0-© ® 60-©0-0 ® ©-0-©

@ O-©-6) B ©--0



